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	Thu
	Fri

	
	
	
	
	1

	
	
	
	
	Look at a multiplication table.  What is one pattern you see?

	4
	5
	6
	7
	8

	There were 214 students in the stands, 115 getting a snack and 110 on the field.  How many students is that?
	Trish has trouble with her 7 times tables.   When she saw 7 x 8 she used the break- apart strategy to solve quickly.  How might she have solved it?
	What other way could Trish have used the break-apart strategy for 7 x 8?
	619 geese were in the field.  117 flew away, then 87 more landed.  How many geese are in the field now?
	William had 5 boxes of 10 cupcakes and 17 loose cupcakes.  Sherry had 3 boxes of 10 cupcakes and 29 loose cupcakes.  Who had more?

	11
	12
	13
	14
	15

	Can you think of two   numbers that are multiples of both 2 and 3?  Show how you know.
	Fred got 64 new stickers.  He put 8 per page in his album.  How many pages would that be?
	William 3 bags of 15 cards.  Use area model to show how many cards that is.
	Jennifer is 3 times as old as her sister.  If she is 15, how old is her sister?
	1/2 DAY

	18
	19
	20
	21
	22

	NO SCHOOL
	One box of candy had 44 pieces and another had 31 pieces.  If they were put in bags of 5, how many bags could be made?
	Gina found 325 shells last summer and 287 shells this summer.  How many fewer shells did she find this summer?  Use an open number line.
	Five hundred eggs were boiled for the cafeteria.  134 did not get done.  112 more broke.  How many eggs are ready for the cafeteria?
	There were 60 square tiles on the rectangular floor.  There were 4 in every row.  How many rows were there?  Use the area model to solve.

	25
Alan found 6 boxes of markers with 10 in each box.  How many markers is that?
	26
List all the ways you can make 12 using multiplication.
	27
George knew there were 12 inches in a foot.  He had a roll of tape with 10 feet and 20 inches left on another roll.  How many inches of tape did he have?
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Complete the calendar problem each night. Show your work 
28


Mark multiplied 2 numbers together for a problem to get 24.  List all the possible factors that he could have used.








